SarkariExam.Com

RRB Group D Exam Shifts 25 -September-2018

1st Shift Asked Questions in English Language

General Awareness

Who is the new governor of Manipur?

For which Film did Nargis Dutt get National Award?

Name the head of Indian Cricket Council

Where does Indian Prime Minister hoist the Flag?

Who won the Global Diversity Award?

Name the recently formed district in West Bengal

What are Ajanta Caves Related to?

Who won the prize for Social and Political Contribution recently?
To which industry does Maneka Gandhi belong?

Name the cricket coach who resigned recently?

Name the body who was awarded Fifty Thousand crores by RBI.
What will happen when HCI is added to Marble?

What is the Newton's Law that forms the basic principle of Rocket
motion?

What is the element formed by CuO and CO
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Properties of Plane Mirror

Math

Piechart - 2gs

If 3/5th of 60% of a number is 36, then find the number.

If SP of 5 pen is equal to CP of 4 pens. Find out the 1oss% or profit %.
Find the square root of 5476

If the length of a train is 200 m, and the speed is 60Km/hr. What is the
time taken to cross a pole?

If on selling a commodity at 45 lakhs, the loss is 5 times the loss on
selling the commodity at 69 lakhs. Find the CP.

If the ratio of present age of A :B is 7:3. And after 3 years it becomes
2:1. Find the age of A.

Simplification — 3-4Qs

Square Root — 10

Menstruation — 2Q

Rhombus one side was given and the area is also given. You need to find the
sum of lengths of diagonals.

Reasoning
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Find the missing: Cat:Milk::Horse::?

Venn Diagram: Professor, Doctor, Man
Conclusion statements

Find the series: FNC, HQC, JTK, ?

If KINETIC is written as TICDKIN, what will be the code for
Machine?

Blood Relations

Venn diagram: Human, Woman, Mother

Mirror Image

Find the mirror image of hands of clock 6:10?
Complete the series: DF, GJ, KM, NQ, RT, ?
Syllogism - 1Q

Water image based - 10

X and Y are walking in the opposite direction if the Y’s shadow is on X
when they meet. Then X faces which direction?
Image-based - 3Qs

Images where given, and choose the fourth image.
Data Sufficiency — 2Qs

Coding & Decoding- 1Q

Number of Triangles - 1Q

Missing letter - 1Q

Alphabet series — 2Q
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e Counting of Triangles

e Miscellaneous One Question on Syllogism.

Railway Group D & ALP &I @3l latest 3793 e Ugal 9t & favw
SarkariExam.Com W & TFd gl 3T AR #AEST App S3TaS
HT AR Government Jobs & IY2T HYs AAIST U IT Hohd ¢l
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